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A 1haskept 2 hasbeen following

3 traveled

4 has been scratching 5 has produced

B 1 has forgotten 2 has been communicating

3 have eaten 4 has been looking at
5 have been riding

C 1X 2 have never seen 3 X

4 listened

5 have been offering[have offered]
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A 1 had had
4 had watched

B 1 hadn’tseen
3 had been waiting

2 had never flown 3 had swum
5 had caused

2 had already begun

4 had been playing

2 had lived[had been living]

4 had never been late

C 1 had been sleeping
3 had gone
5 had been looking for
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A 1 The artist has drawn the pictures of sea creatures.
2 My brother has been laughing during the comedy
show.
3 My classmates have been posting funny pictures on their
SNS.
4 Mr. Bolton has been driving to the meeting place for
an hour.
5 Seth has wanted to be a French teacher since he
watched a French film two days ago.
B 1 had (already) begun, arrived
2 (had) met, introduced
3 (had) joined, went 4 came, had forgotten
C 1 met, have known
2 had been £ was, became
3 ran into, had changed
(2) have (just) finished
(4) did you enjoy

D (1) have been staying
(3) had played
(5) had been
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® has been lying — had been lying
@ told — has told
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@ had arrived — arrived

@ has designed — had designed

@ is practicing — has been practicing &= has practiced

@ hasn’t seen — hadn’t seen
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1 mustnot 2 can’t 3 shouldn’t
5 should

1 should have gone

4 may

2 cannot[can’t] have finished

3 should have exercised

4 may have mistaken

5 must have arrived

1 cannot[can’t] have believed

2 should not[shouldn’t] have lent
3 should not[shouldn’t] have had
4 must have been

5 should have focused
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A 1 would like to 2tofry
4 would 5 are used to
B 1 usedtobe
3 would rather think

3 used to

2 would like to invite
4 is used to getting up
5 used to read

C 1 had better 2 used to 3 couldn’t help watching

sliAd
A 1 U= 1588 A YE5HD AL
2 A0 EX| %2 7|E0| HEZEL WAEZEES §7|= O At
&
3 Ellen2 &322 HAUXIT XF2 ASH0[Ct
4 L Ao 7t xt2t2] (FoM) XEg 226t
5 201 87 |= o2 X[ ZM[of| TioH Lot 7| @{aH AFZEICH
C 1A 30| EX| 20k Lo A M X[,
B: He= HR0 7tE= A EX
2 A dlej2|E Z0t5HA| 920t U= 14 ZE015H?
B: S, #& Z0t5ll. SEX|ZF 0TS M= Al2id] H= AS 201
UAK
3A A =R AR £ FVIE RL?
B: 3| ®X|. HF S8t Z7[2tM MEIX| & 501 el
A0
p.026

A 1 would rather take a bus
2 may have given the pill
3 must have been angry
4 used to[would] eat strawberry ice cream
5 had better exercise
B 1 should have avoided
2 mayl[must] have ridden
3 cannot[can’t] have understood
4 should not[shouldn’t / should] have considered =
must have considered
5 should have apologized

C 1 usedto be 2 used to[would] play

3 used to be

D (1) must (2) used tolwould]
(3) must[may] (4) could not[couldn’t] help
(5) would like (6) better
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01® 02® 03® 04® 05®

06 @ 07 @ 08 must[may] have eaten
09 should have been 10 Would, like to
11 cannot[can’t] have lost 123 13@

140,03 150 16 ® 17® 180®
19® 200 21®@

22 | should have called you sooner.

23 Some plants are used to treat skin diseases.
24 is — used to be

25 would rather — should[had better]

26 had no choice but to cancel 27 @

28 must have missed team practices
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A 1tofind 2 to eat 3 to walk 4 to sit
5 to relax
B 1 sketchbook to draw

3 man to step

2 enough to surf
4 something to eat
5 too crowded to be
C 1todo
3 to spend time

2 disappointed to hear
4 old enough

5 good enough to give == so good that they can give
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A 1for 2 of 3 for 4 of
5 for

B 1whattodo 2 how to make
3 of her to save 4 which ice cream to buy
5 it rude to ask

C 1 It was very kind of you to come
2 where we could[should] find the food court
3 when you should stop eating
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A 1 Anna advised me to take the train instead of the bus. TE Hol| Qe XS/ SHME 57| floh Ottithe] HRE
L= Anna advised (me) that | (should) take the train £ M88le WS /1S9 sME 8l = TVE BEE XS
instead of the bus. S{2foHTt

2 The parents expect their baby to walk very soon. 3-4 059 BRHR2 50| SAMA Holl o= R/ MNUE
‘ 2 AS/ US0 Sitote A/ ZHY e UT

3 My brother let me use his tablet computer in the
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2 She decided to learn how to write a song.

3 They arrived at the library to find that it was closed.

4 1t was too hard for me to finish the long hiking trail.
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rush(rushing] toward me from the sauna.
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A 1 which 2 whose 3 who 4 which
5 that
B 1who 2 whose 3 of which 4 whom
5 which
C 1X 2 whose 3 X 4 whichlthat] is
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A 1 that 2 that 3 what

4 that were

5 what 6 that
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C 1 what 2 that[who(m)] 3 What

4 that[which] 5 that[who(m)]

EE)

A 1227t AmyE flol & 4= U X0 OFF A= UL

6 that[which]

o] UMM AMzZ
Hok=X| SR,

5 Kevin2 1 THIOIM RSE (AF 22)

6 11 E=0] & AU QAE FAtet 10| o [
B 1 EmiliaE 2497t & LNz 2 XS Ol5EA 21
2 Maisy= 19| Z17t 3iEH At 22 25 Z2%S AlY
ACH
3 =0ISHNM = A2 W §540] 2 Hot= Ao,
4 HHEHHM WA SHE &= 18 AIS gis Aot
C 1 Louis= J17FHQSt A2 AL| fIal 2F=01 2.
2 U7t MZISH] 2= AR Al HE MRIGH] =t
3 L7E S A0 A A2 D MZ A
4 L= oliQl0A 730t Yok eh=elS0l thet & of Ha
UL
5 U7t o0l Z0tots MYH2 Yot T=SH FAF M
Mgolct.
6 W ZIFSa L= EE XL EEz UAE ods 2o &

IR 0|50 & ZHA|CHHALS| MQl

7|$®:PII1I p053

A 1 which 2 which 3 which 4 who
5 on which

B 1onwhich 2 atwhich
4 who(m)lthat], for

C 1atwhich 2 which
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5 with whom

3inwhom 4 which
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1 that woman and her dog that are skydiving

2 (which[that]) Lexie got on her science exam

3 what the patient ate

4 wholthat] grew up in London

5 which[that] Dylan was waiting

6 What[The thing which[that]] the writer meant

1 The man wholthat] robbed the bank was finally caught
by the police.

2 The kindergarten classrooms which[that] were newly
painted are very bright.

3 What Lucas really wanted was not money but time to
be with his family.

4 | take Chinese lessons online which[that] will help me
during my trip to China.

5 A police officer and a dog that had been searching for
the missing child were injured.

6 Sarah brought a cake, which she had baked with
effort, to celebrate her friend’s birthday.

1 who are playing

2 that are playing

3 who are sitting, which[that] | made

4 whose name is[the name of which is / of which the
name is / which[that] is named]

(1) wholthat] listen to classical music

(2) whose body is in pain

(3) which[that] fight the pain

(4) what helps people lower their blood pressure

(5) which is based on studies

(6) which can help you take care of yourself
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10® 11O 12® 13 whose
14 which 15 wholthat] 16® 17©
18®@ 19 were — which[that] were == were 4K
20 That — What

21 for which he used to live — in which he used to live
= (which[that]) he used to live in

22 Bill lost the mug his friend gave him as a gift.

23 The comedy film made my friend cry, which |
couldn’t understand.

24 which[that] was 25 @) 26 @ 27®

28 | saw many people wholthat] were dressed up like

famous movie stars or cartoon characters.
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A 1 when
5 where
B 1 where
C 1 when
5 why
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3 how
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3 whichever 4 Whatever

A 1 However 2 whoever
5 No matter who

B 1 whenever 2 Wherever 3 Who(m)ever
4 No matter how 5 No matter what

C 1 However 2 Whenever 3 no matter who(m)

4 any place where
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1 where[in which] | keep my necklaces

2 whyl[for which] he wants to be a vet

3 Whenever[At any time when] I'm[l am] in the subway

4 whomever[anyone who(m)] she meets

5 whenlat which] we watched the first sunrise of the
year

6 whatever[anything that] the actor starred in

1 Whichever[No matter which] road you take to Busan, it
will take a long time.

2 Loving Tina was why[the reason (why[for which])]
Raymond didn’t take the job abroad.

3 Seven o’clock in the evening is when[the time (whenl[at
which])] the store closes.

4 However[No matter how] far the amusement park was,
Jamie wanted to go there.

5 Whenever[At any time when] | help my mom with the
laundry, she looks happy.

6 Mr. Homer visited the university wherelin[at] which] he
had studied computer engineering.

1 Whoever[Anyone who]

2 Where[The place (where[in which])]

3 The days when[The days on which]

4 How[The way (in which)]

(1) when (2) how

(4) Whenever (5)However

(3) why
(6) Wherever
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01® 02® 03® 04® 05O

060,® 07® 08 @ 09®

10 the reason for which

11 No matter how dangerous 12®,® 13®@

140,® 150 16®

17 the reason why[for which] | have clean skin

18®

19 | still remember (the time) when Kristen cried at the
movie theater.

20® 21®

22 he would not be safe from the enemy no matter

where he hid
23 @ Whoever ® whichever[whatever]
24 (1) However important (2) at any time when
25®
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A 1 excited 2 burning 3 improved 4 scheduled
5 studying

B 1 running 2reserved 3 charming 4 Crawling
5 stood

C 1X 2 boiling 3 sweating 4 saved
5 planned
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p.077
1 Being 2 Baking 3 Entering 4 Arriving
5 After finishing === Having finished
1 While we walked[were walking] in the park
2 As soon as they heard the start gun
3 Since he cooks very well
4 After she had left the city
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A 1 Listening to the radio

2 (Being) Very busy
3 Not having enough money
4 Eating too much now
5 Pointing at a map in her hand
B 1 With the flashlight turned on
2 Holding on to a rope
3 Compared with the other sweaters
C 1 Bellaz H2|E =Hofl 7]H X E11 ARAC
2 OFE AAE SHHM Amy= AIRE 215 S0E Z 71 L7I3UCE
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A 1 riding, frightened
2 disappointed, closed
3 staring, with, folded
4 Learning how to concentrate
5 rescued, injured, taken
6 Judging from, satisfied
B 1 The freezing point of water is 0°C.
2 Rachel likes the musical (which[that] is) playing at

Queen’s Theater.

3 Studying[Having studied] hard for the exam, Megan
got a perfect score.

4 The film, (which is) based on real events, tells the
story of a mathematician.

5 Considering that it was very hot last year, this summer
is not too bad.

6 After helpinglhaving helped] orphans as a volunteer,
she decided to become a social worker.

C 1 [OIAIE®H with her eyes half closed, tired

2 [GIAIE2H] with her chin in her hand, bored

3 [GIAIE] typing on the computer, annoyed

4 [0 Al with her head (resting), relaxed

D (1) celebrated (2) exciting
(3) finishing (4) watching
(5) lasting
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01® 02® 03® 04® 05®
06 @ 07 ® 08 @ 09® 100
10,06 12® 13 made
14 Not having 15®@ 16 @ 17 ®
18D 190 20 Having not — Not having

21 If | speak frankly 22 his hands raised
23 an area known for its excellent wines
24 holding the toast between her teeth

25 Having no time

26@

27 (1) a drunken man yelling

(2) a man wearing, running
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A 1Tor 2 and 3 but 4 Neither
5 were
B 1not,but 2 Both,and 3 either, or
4 Don't be late, or 5 not only, but also
C 1 Neither Finn nor Cynthia knew
2 not, facts but, guesses
3 not only, but also
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Ij:qgiﬁxhl
A 1seemsto 2 seemed that 3 that
4 visit 5 to have been
B 1seemsto 2 that, exercise 3 that

4 It seems that 5 that, should
C 1 seemed that Liz made

2 seems to have understood

3 seems to speak

4 the company (should) pay
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A 1if 2 if, whether 3 whether or not
4 how | made 5 Where do you think

B 1 why Carrie laughed 2 what Roy was like

3 iflwhether] she will be

C 1 which bag belongs to Patrick

4 whether or not

2 iflwhether] you will join our team
3 who can help me

4 how we can make grapefruitade
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B 1 Though

C 1| rarely meet him
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3 Although 4 As, Since

2 Unless
5 Because

2 That’s because 3 Unless
4 That’'s why 5 If

2 Now that

3 won'tget 4 because of 5 If you travel
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1 It seems that Jacob knows more about me than anyone
else.

2 Though it was raining, my friends and | enjoyed
our picnic. == My friends and | enjoyed our picnic,
though it was raining.

3 The lecture on philosophy was both educational and
entertaining.

4 The photo on his ID was so old that he took a new
picture to replace it.

5 Since we helped a tourist find the train station, we
were late for the movie.

6 Neither Melanie nor Richard knew the answer to the
question.

1 While the children played|were playing] in the water

2 iffwhether] she believes everything in the media (or
not) = whether or not she believes everything in the
media
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3 Which bookstore do you think we should go to

4 Unless meetings become shorter == If meetings
don’t become shorter

5 Visit the university (whichlthat]) you wish to go to

6 Thoughl[Although / Even though] Ryan is busy with work

1 seems to be offering

2 seem to know

3 seems to be arriving

4 seems that the children are enjoying

(1) It seems that (2) That’s because

3)If (4) because

(5) both (6) even though
(7) what (8) that

(9) whether (10) so that
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01® 02® 03® 04® 053
06 ® 07 ® 08 ® 09 ® 10®
11 Unless you watch the news

120 130, 14@

15 suggested (that) he (should) avoid

16 who(m) she traveled with

17 not only economical but (also) convenient

18 (1) Although (2) Whether (3) so that

19® 200 21®

22 She wants to know why Henry studies Korean.
23 Which team do you believe will win the final?
24 1 won't tell you if | can play the guitar or not.
25 so as to == in order to, so that

26 (1) Neither, nor (2) Both, take (3) While
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A 1 more

2 four times 3 much
4 The bigger, the harder 5 more
B 1 muchleven/far/a lot] more organized
2 more complicated than
3 as accurately as possible
4 more and more
5 twice as much money
C 1 not as[so] crowded as
2 as loudly as you can
3 three times as old as == three times older than

4 The less, the more
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A 1themost 2in 3 of
4 warmest days
B 1 the politest

5 any other movie

2 the most touching, have, watched
3 the most common
4 more convenient than any other
5 one of the happiest peoples
C 1 )Jay has (ever) hadltaken] 2 precious item
3 the sixth poorest 4 the most important events

5 No other woman in the world was
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A 1 muchleven/far/a lot] farther
2 the best apple pie (that) | have[l've] (ever) eaten[had]
3 not as[so] popular as
4 as much as possible £&
5 the third busiest

6 No (other) painting, more valuable than

as much as you can

B 1 has far better memory than Victoria
2 the greatest poet that Ireland has ever produced
3 busier and busier after the project started
4 The more he worked, the less time he spent
5 crows are as intelligent as a seven-year-old child
C (1) biggerllarger]
(2) twice more
(3) twice as old
(4) three times
(5) (muchleven/far/ a lot]) closer
(6) (@) cheaper
D 1 less and less — more and more
2 the more critics — the less critics
3 less anxious — more anxious
4 least — most
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01® 02® 03® 04® 05®

06 ® 07 ® 080,® 09®@ 100

1M1® 12@ 13 more respected than

14 The colder, the fewer people 15 ® 16®

17 @ 18 Ryan>Simon>Erin>Zoe 19®

20 as better as — as[so] good as = better than

21 the little — the less

22 Meredith looks younger and younger each day.

23 That blueberry pie is the second best dessert made
by the baker.

24® 250,0,®

26 (1) four times, much (2) No, more expensive
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1 were 2 were 3 would 4 won
5 had been

1 would you do

2 would read

3 had told, would not[wouldn’t] have got(ten)

4 had had, could have bought

5 had, could play

1 would go 2 would have beaten
3 had not[hadn’t] rained 4 could get
5 had told
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14 were[was] fluent 15 could tell
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20 (had) lived 21 didn’t go
22 She felt as if all her worries had gone.
23 | wish | could get tickets for the concert.
24 (1) as if, were[was]
(2) were[was], would[could] not meet
25 (1) would spend more time looking at the stars
(2) would have made face packs
(3) wouldn’t have hidden
(4) would have caught a cold
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4 were heard crashing 5 was found boring

1 was given to 2 were felt falling
3 were lent to 4 is considered valuable by
5 was asked, by

1X 2 made to take

3 seen to fly[flying] 4 bought for
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2 is being served
3 has been sent

5 is said that

1 was covered with
3 should be told

5 was crowded with

4 expected to

2 be cleaned
4 It is known that
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C 1 was surprised at[by] 2 was filled with
3 is satisfied with
4 It is thought = People[We] think
5 are (being) watched
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A 1 is being repaired 2 is believed that
3 was satisfied with 4 arrived
5 was seen wearing[to wear]
6 has been worn

B 1 The alarm clock was heard ringing by Emma.
2 Delicious French toast was cooked for us by Pauline.
3 A helicopter was seen to fly near the school by David.
4 The movie was given good ratings by the audience.
5 A new wind farm will be built in our town (by them).
6 Blood is said to be always thicker than water.
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01® 02® 03® 04® 05 with

06 @ 07 ® 080, ® 09® 100

11 will be played by 12 were given

130 14 ® 15@ 16 @ 17@

18 will be removed 19 was being repaired

20 for 21® 220

23 is considered intelligent by his classmates

24 was sent to Travis by Jill 25®

26 The strong wind was felt blowing by Stacey.

27 If you are being bullied in school

28 (1) be returned (2) be switched (3) be kept
(4) are not allowed to (5) don’t disturb
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A 1is 2is 3is
5are 6 will go

B 1arelwere] 2 eats 3is
5is

C 1 had visited
2 student

3 had waited[had been waiting]
4 was
5 would attend
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1 the time was 2 could 3 asked
4 not to bark 5 was, forgot

1 she had been, before

2 had found, the previous

3 advised|told], to focus, his

4 advised[told], not to stay

5 told, would travel, his, the following week

1 not to smoke 2 would learn
3 were sold out 4 had seen

5 had been
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A 1 Each of us is planning
2 belongs to my uncle
3 some of the peaches had gone bad
4 had visited China the day before
5 (that) she travels once a month
6 were not[weren’t] allowed to vote
B 1 not to be late for the movie that evening
2 the education gap between the rich and the poor is
growing
3 Gentoo penguins propose to their lifemates with a
pebble
4 Both the Boston Red Sox and the Kansas City Royals
have advanced
5 if he could take out the food waste for her
C 1 to stop watching TV and walk my dog
2 (that) the Renaissance started in Italy
3 iflwhether] he could help her to carry that box
4 what she was going to do the next[following] day
D (1) wrote (2) are (3) were (4) to write
(5)is (6) had (7) comes  (8) wait
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01® 02® 03® 04® 05®

06 ®@ 07 ® 08D, ® 09® 10®

10 12 is notlisn’t] easy

13 was going to learn

14 iffwhether] | had got(ten) enough sleep

153 16@,3,®

17 told me that those 18 to drink

19 iffwhether] | could giveher 20®,® 21 ®

22 Each flying hot-air balloon carries heated air.

23 Scientists found out that it takes 12 hours for our
body to digest food.

24are 250 26 ® 27®

28 to be nice to her brother, (to) try to be a good
listener

29 (1) where | was going
(2) (that) | would go to see a movie with Luke

(3) to come home in time for dinner
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A 1did 2 Do
4 that 5 that, where

B 1 Do help me move this heavy sofa.

3 does, doesn’t

2 Peter did want to play in the match on Friday.

3 Laura does like Korea, but doesn’t like spicy Korean
food.

4 They did replace the watch battery, but it still doesn’t
work.,

C 1 It was two hours ago thatlwhen] Nick bought a pair of

sneakers at the store.

2 It was in the forest that{where] the children saw
beautiful butterflies yesterday.

3 It was seafood that[which] Miranda ate at a restaurant

near the beach last weekend.
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2 has Jeremy eaten[had]
3 Not every 4 thought[idea] that

B 1 Neitheris 2 So do 3 So will

C 1 Inthe doorway stood Penny.

A 1 not always

2 Behind my back lies a cute puppy.
3 Next to the kitchen was the bathroom.

4 On the top floor of the building is a duty-free shop.
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A 1 the clouds disappeared the sun
2 does not[doesn’t] always agree with me
3 on my way home that[when] | saw the accident
4 The news that Paul had food poisoning
5 It was 30[thirty] minutes ago that[when]
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The old man has never seen such a strong storm.
2 Liam did solve the problem, but he didn’t tell anyone.
3 1t was his passport that[which] Justin lost while
traveling abroad.
4 It was last Saturday that[when] Amanda sang the
theme song of frozen at the karaoke.
C 1 Neither of them 2 is not[isn’t] always
3 no one[nobody]
D 1 0nthe top of the cliff stands
2 There are
3 From the chimney (of the cottage) riseslis rising]
4 Under the tree is
5 On a branch (of the tree) are sitting][sit]
E (1) my classmate
(2) does like[(really) likes / loves]
(3) at a Chinese study group
(4) none of
(5) my best friend
(6) that we have been
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01® 02® 03® 04@,® 05@
06 @ 07 ® 08® 09 ® 100
11 did quit 12 Rarely does she

13 It was, that[whol

14® 15® 16 ®@ 17® 18®
19® 200, 21®,® 22® 236

24 None of the actors wanted to work with that

director.

25 (1) to London that[where]

(2) six musicals that[which]
(3) not all[most of] the musicals
(4) toilets that[which]
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WORKBOOK

CHAPTER 01 SEELIETERICT-E

0

TNl sixitz / sixjets x1sHs 0.02
A 1had 2 has gone 3 has been snowing

4 have been 5 have been studying
6 have raised, have been raising 7 heard
B 1 Have, ridden

3 have known

2 has already finished
4 has been talking
5 have been practicing 6 have been traveling
L 1 lost his cap

2 has been driving for

3 haven’t eaten anything since

4 has been writing a letter for
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ISR / a2 T p.03
A 1 had left 2 had gone 3 have forgotten

4 had eaten 5 hadn’t cleaned 6 has stopped

7 had been cooking 8 entered
B 1was 2 arrived 3 had finished

4 been traveling 5 seen 6 went

7 had broken 8 been taking
L 1 had (already) started

2 had waited

3 had been a tennis player

4 had been driving
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CHAPTER 02 F=S\%
NN E=SA + have + Df7HE2AL p.04
A 1 must 2 must 3 Can 4 should
5 cannot 6 should 7 must 8 may
B 1 MaylCan]

2 may have heard
3 cannot[can’t] have done
4 must have forgotten
5 cannot[can’t] have seen
6 should have been
[ 1 cannot[can’t] have stolen
2 should not[shouldn’t] have eaten
3 may have left
4 must have gone out
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UNIT 02 SN p.05
A 1usedto 2 I'd better 3 live 4 used to be
5 cancel 6 used to 7 would, used to

8 had better not

B 1living 2 tojoin 3 admiring E= but admire



4 take 5go 6 but to take 7 used to
8 used to
C 1 She could not[couldn’t] help crying[but to cryl.
2 Kate used to be my best friend.
3 I am[I’'m] used to eating spicy food.
4 These plants are used to make medicine.
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CHAPTER 03 FL=2sIN;
UNITO1 [RieL=psINel =2 p.06
A 1toodark  2toplay with 3 talk with 4 write on
5 to visit 6 tried not to 7 easy enough
B 1tosolve  2tosave 3 to sit
4 enough to walk 5 to help

[ 1 Heis so young that he cannot[can’t]
2 You are so slim that you can
3 She is so patient that she can be

4 so late that they could not[couldn’t] get
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1 of 2 of 4 which
5 for 6 whom to call 7 what to do
2 of her 3 what to buy 4 how to talk

3 them

1 when to
5 for us to
1 He asked me how to make cheese.

2 It is important for me to stay healthy.

3 She hasn’t decided where to put the vase.

4 It was careless of him to make the same mistake.
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A

oA

A

4 to find
7 not to tell

2 feel 3 break
5 pulled out 6 to participate

1 use

8 to park
3 shake[shaking]

6 use

2 stolen
5 cut

1 washed
4 fasten 7 to have

8 not to eat

1 Joel got his watch repaired.

2 He’s[He has] never seen his mother cry[crying].

3 The heavy rain made me stay at home all day.

4 Her boss doesn’t[does not] allow the staff to make

personal calls at work.
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5 : A 1 what 2 that, who 3 what 4 What
CHAPTER 04 w8 ; : 5 that 6 which, that 7 that 8 that

B 1 What[The thing which[that]]

BAAHEAR £, A, 282 209 ) ynathe thing(s) whichlina
A 1 whose 2 whose 3 which 4 whose 3 what[the thing(s) whichlthat]]
5 who 6 who 7which 8 which 4 that[which]
B 1 whichlthat], X 2 wholthat], X 5 that[which]
3 which(that], O 4 whose, X 6 what[the thing which|that]]
5 who(m)[that], O 6 wholthat] is, O 7 thatlwho(m)]
7 whose, X 8 whichlthat] is, O 8 that
[ 1 Susan wants a car whose roof[the roof of which / of L 1 that were playing together on the grass
which the roof] can be opened. 2 what | have wanted to read
2 1'm waiting for the bus which[that] goes to the 3 that takes pictures of wild animals
museum. 4 what they have learned in class
3 The book which[that] Mike gave to me yesterday was EE)
boring. A 173=130] W= st 200 tish 425K 2t
4 My cousin wholthat] had a car accident is in the 2 = D= ARO|H EZEH= LXto|C}
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S=2 38 ALt
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2 1 AHE2 W7 23132 {11 0] o $HE O[T

3 Ui 0P S2 ATl e I ARIRIHE 10 QIL?
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A 1 which 2 which 3inwhich 4 which

5 which 6 inwhich 7 which

B 1 with whom 2 which 3 which 4 to which
[ 1 Tell me a shop at which | can buy nice sneakers. =
Tell me a shop which | can buy nice sneakers at.

2 A year ago today is the day on which | first met you.
&= A year ago today is the day which [ first met you
on.

3 He married a famous writer, which made us surprised.

4 Ann showed me a picture of her father, who is a

firefighter.
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CHAPTER 05 Sz N3]

UNITO01 B[N p.12

A 1why 2 The reason 3 how 4 the way
5 where 6 when 7 the day
8 at which, where

B 1 where 2 why 3 when 4 where
5 why

L 1 This is the way in which my sister and | relieve stress.
2 He wants to visit the house in which he was born.
3 The reason for which | came back is to be with my
family.
4 Two thousand and sixteen was the year in which [ first

traveled abroad.
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A 1 However 2 Whenever 3 However 4 Whichever
5 wherever 6 whatever 7 whenever 8 Whatever
B 1 who(m)ever 2 However 3 no matter who
4 No matter what 5 Whenever
L 1 No matter what you wear
2 No matter how cold it is
3 At any time when her baby cries
4 No matter where you are
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A

5 destroyed 6 waving

1 waiting 2 depressed 3 cleaned

4 swimming[swim] 5 parked 6 Fallen

7 sleeping 8 injured

1 Traveling[To travel] to new places makes me excited.

2 The boys crossing the road are my classmates.
3 Tommy feels severe pain in his broken leg.

4 Cosmetics made in Korea are very popular in China.
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UNIT02 BENEES! p.15

A 1 Feeling 2 Worrying 3 Watching 4 Being poor
5 Driving 6 Coming 7 Not knowing
8 After finishing
B 1 BecauselAs/Since] 2 Being
3 When[While] 4 hearing
5 Because[As / Since]
[ 1 Because[As/Since] he was busy, he couldn’t go to the
festival.
2 When[Before] you leave the room, you should turn off
the lights.
3 (Because) Having a headache, Sarah took some
medicine.
4 (When) Arriving at the airport, | heard the flight had
been canceled.
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B 1 Considering 2 Frankly speaking
3 Generally speaking &= In general
4 her arms folded|crossed]
C 1 (Althoughl(Even) Thoughl) Hurrying to the station, we
missed the train.
2 (If) Turning to the right, you can find the parking lot.
3 (As) Smiling brightly, she waved her hand at her
friends.
4 With your knees bent[Bending your knees], lie with
your back on the floor.
5 (Althoughl[(Even) Though]) Living next to his house, |

know nothing about him.
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A 1or 2 but 3 nor 4 either
5and 6 and 7 notonly 8 may
B 1or 2 like 3 Neither
4 won't[can’t / may not] 5 stay 6or



C

A

A

7 need
1 Both, and, are

8 eating
2 Not, but, is

3 neither, nor 4 or you will gain
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VN7 HAPE HEAL that p18

A

3 that
7 1tis

4 that
8 take
3 visit

1to 2 excellent
5 should
1 to need 2 should apologize
4 that 5 should eat

1 seemed to have enjoyed her work

6 spend

2 seems to be getting better
3 seems that he has

4 seems that Julia forgot your name
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UNER HAFE F2AL iffwhether] /ZERQI2EE  p.19

A 1whether 2 Whether 3 if, whether 4 what
5 when the hospital closes & whether
8 Who do you believe

2 Why do you think

7 whether he can

B 1 who your brother is

3 what she said 4 or not
5 whether or not 6 whetherlif] he could
7 Whether 8 whether

L 1 l'wonder iffwhether] there is a bus stop near here.

2 Please tell me what this word means.

3 Do you know how much the fare to Busan is?

4 Where do you think the best place to travel in Korea is?
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A 1If 2 Although 3 Since 4 because of
5 because 6 work 7 Now that 8 why
B 1if 2 Though 31If 4 Though
5 Unless
[ 1 unless you try hard
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2 That’s because he lied to his friends
3 That’s why she is admired
4 Although he is young
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A2 p.21

3to 4 Since
8 while

3 since, Since

2 since
6 While
2 While, while

4 in order to[so as to]

1As
5 so that

1 as, As

7 so

1 such a delicious dish
2 too complicated for me to put together
3 in order to become healthy

4 warm enough (for people) to swim
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A 1as 2 and 3 much 4 could
5 The more 6 even 7 more and more

8 four times larger

B 1 twice as much as
2 more exciting than EE&= as exciting as
3 as slowly as possible &&= as slowly as he could
4 muchleven/far/a lot]
5 the better we feel
6 as good as == better than
7 much more comfortable than = as comfortable as
8 as[so] much as
L 1 English is notlisn’t] as[so] difficult

2 three times longer than that one
3 let me know the result as soon as you can

4 more than her[Alice]
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A 1 most 2 artist 3 of 4 in

5 worst 6 man 7 singers

8 the most boring
B 1 the happiest 2 more popular

3 funniest, met[seen] 4 one, scientists

5 the second tallest 6 more patient, any other

[ 1 No (other) animal is as[so] tall
2 No (other) player in the team is as[so] fast
3 higher than any other mountain

4 No (other) country in the world is smaller
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CHAPTER 09 B¥rslS

UNIT01 ARl W oS inl KT
A 1wouldn't 2 were 3 exercise 4 feel
5 would have told 6 have gone
7 would spend 8 had been

Tt

p.24

B 1 could[would] have gone 2 had not[hadn’t] helped
3 were[was] 4 had run
5 had 6 have survived
C 1 1f it had not[hadn’t] rained yesterday, | would have
visited you.
2 As | don’t have enough time, | can’t go with you.
3 If I were[was] taller, | could play basketball better.
4 As you did not[didn’t] study harder, you could
not[couldn’t] pass the test.
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A 1 could 2 asif 3asif 4 had told
5 Without 6 were 7 could have remembered
8 hadn’t slept
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L 1 asif he werelwas] happy 2 | wish | had 3 22| Hot= LA M AARAAE At =R

3 as if he had been 4 Without the Internet — M X A7 22| Hotof| 2J3H LHA| 200 = AT,
) 4 Miket Julia0l? 2 B CiYS FYC,
A 1S 8 SHOIO{BS 2 & QICiH 2 Eih|. — Julia= MikeO|IAN £ ot CHS EIQUCH T= £ S CfY
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5 0| QICHE 92| 0F2IE AF A oS HIG|. | A 1 with 2 be followed 3 cost 4 with
649 £20] QICIBI Li= 1 S B 4 giS HIY|, Sin 6 was being cleaned
7 U7k 1) 70 0|22 7|23 4 AUACIH SUS HH) 7 been canceled 8o be
8 1= OIX| OfX0] 42 & XIX| 23 HAE 281 A7l =L} B Twillbe delayed 2 tired of
3is said 4 is being built

5 satisfied with

CHAPTER 10 ‘JF%EH i : [ 1 All washing machines were being used.

2 The pizza has not been delivered yet.

3 The broken computer can be repaired by my dad.

UNIT 01 =Ef 1 p.26
4 It is believed that some dinosaurs could run faster
A 1 wasgiven 2 for 3tocry 4 to me than cheetahs.
5 taught 6to 7 burning 8 to wash

A 132 XSe 7|z 75300
was sentto 6 to get on was told to 8 to pick u : _ . _

° brog 7 Btopickup | 2 2 RS2 22/0f ofaf XA} BTt

3 19 M B3tz 3d0t Z2f eI}

4 0] A2 U E LU =22 FHOof /UL

B 1 wasfound 2 was cooked 3 was asked 4 were kept

-

[ 1 1was made to carry the box by Sarah.
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2 His room is always kept clean by him.
3 A new bike was bought for me by my mom. 5 L IEAS 93] o) 0FRZ0|E ZHAI0] ST
4 Julia was given a bunch of flowers by Mike. £= A

bunch of flowers were given to Julia by Mike.
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B 11 Yk XISaHCiD o450, Sspend  6is
2 M AN Laura0ll Qs 2E2| JEES0IA Q2| = QiCt L 1 Some of the desserts contain
L= JS0] QS HE O RRSS HIQIT} 2 people who stop smoking is increasing
4 1SS 10| Q3 Bt A|ZH SOt A2 7|Ct2| A QUL 3 the Earth goes around the sun
5 22X} HA|X| SHLI7F LY SO M52 MAFQICT 4 that she exercises for 30 minutes
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UNIT02 [RfskeiainiiedEsiei) p-29
A 1notto 2 closes 3 didn’t 4 told
5 then 6 asked 7 had enjoyed
8 to say

B 1 how he did that
2 asked, iffwhether] they knew
3 that he had lost
4 that he was, then
5 that she had never been

[ 1 He said to me, “Bring me a glass of water.”

2 Andy said, “I can’t[cannot] go home today.”
3 She asked me iflwhether] | had bought that ring for
Chloe.
4 Dr. Sanders advised[told] me not to skip my breakfast.
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UNITOT g p.30

A

m

(at4)

A

m

A

1do 2 does 3 who 4 did
51t 6 that 7 need 8 that, where
1 does 2 that[where] 3 that[where] 4 It, that[who]

5 does

1 It was Jake that[who] got hurt in a car accident.

2 He does try to help poor children in Africa.

3 She did exercise, but she gained more weight.

4 It was at the age of five thatlwhen] Mozart started

composing.
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1 comes the bus 2 is lying a pen 3 neither
4 does not always 5 artist 6 that
1 Not every 2 neitherdid | 3 so am | 4 None of

EE)

6 that
1 the door walked a boy in a red cap
2 did | think that he would

3 The news that Japan was hit by a tsunami again

5 is interesting

4 one of my friends, is interested in making robots
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